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PROFILO RAMO D

SEZIONE D-5

PROGRESSIVA60.21

a

0.73 m?

1.55m?

0.38 m?

1.65

2.46 m?
DEMOLIZIONE PAV. ESISTENTE

RIVESTIMENTO FOSSI
MISTO CEMENTATO

BONIFICA

Al
BASE
BAL
BINDER
Bl1

BO1
CEl

0.31 m?

Dl

322m?
3.53m?

Totale:

D2

RILEVATO
Rl

104.20 m?

0.31m?
4.63 m?
0.72 m?
535m?
15.60 m

VEGETALE SCARPATE
2.82m

GRADONATURA

grl
IDROSEMINA

USURA
USsl1
VEI1
VE2
Totale:
inl

n2
Totale:

271m
1831m
5.79m
7.75 m
13.54 m

SCOTICO

scl
sc2
Totale:

00t

31

200

PROGRESSIVE
TERRENO
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PROFILO RAMO D

SEZIONE D-19

PROGRESSIVA315.53

BASE

BALl 1.60 m*
BINDER

BIl 0.40 m?
MISTO CEMENTATO

CEl 2.08 m?
RILEVATO

RI1 7.61 m*
USURA

UsS1 0.32 m?

ASSE CF

ASSE CF

5'35% 5‘35% ﬂ

200

33
N 200

PROGRESSIVE
TERRENO

3500
33.01
22.96
21.66
20.40
17.93
-15.29
10.30
1.25 -
7.51
11.20
16.46
16.75
21.98

~-31.96 -~
25.50
27.58

135.00

PARZIALI
TERRENO 1.99

-128.74
3150
32.52

u
e VN

4.99 11.55 6.26 3.69 5.26

ey

(=3

W
e

9.00

0.2%

7
v
]
i
w
in
o

2.08 [1.16 2.48

_.
[99)
=)
-
o
=N

|
I
EN
~
]
=3
Ny

[N}
~1
(=)
I N
—
o
[35]

QUOTE
TERRENO

52:600
52.596
52.540 —
47.843
47.179
47.008
46.166
45210 —+
45.168
45.122
45.091 —-
46.944 ~_ |
47.051 —
47.496

47.550
47.585

47.603 —

47.651
47.554 -

45113

47.340

PROGRESSIVE
PROGETTO

PARZIALL
PROGETTO

—
f=)
<
e
(=l
(=)

-3.00
2.00

St 0.00 —
——2.00

5.00 —

2.00

W
=
S

.
T =L

QUOTE
PROGETTO

A\ 49.435 —f"
49.489 —|
49.703 -

A 49.863 -

PROGRESSIVE
RILEVATO

-3.00
-3.00
0.00 — 49.596
5.00
5.00

PARZIALI
RILEVATO 3.00 5.00

QUOTE
RILEVATO

48.885
48.150
49.046
48.150
49313
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ASSE CF

1.60 m*
0.40 m?
2.08 m®
7.77 m?
0.32 m?

MISTO CEMENTATO

CEl
RILEVATO

RI1

USURA

BASE
BAIl
BINDER
BI1

US1

PROFILO RAMO D
SEZIONE D-22
PROGRESSIVA375.69

007

200

~oosel D6EHS
Onw «
— ZUEE bt 18€%6
b=
~
ol 19T f——— SEEwS
[ve]
\n
— ESYT e £8TYS
S
[N}
¢S T r——1— 8vi'es
<
1 IT T e
™~
N
o~
Z6'EL o YOET TS
o
]
<t
006 F——— 1E8'6Y
<
| ESTL ot OVESY
o0
o
< - 00'S 5888y -— 00'S |——— siesy
8
S1°€ |- ELeLy o -
<
— 00T |——— sty b
(=2}
- 3
o
- 000 819°8t |-~ 00°0 890°'8Y
== PLO [ [ 699Ly <
-~ b 1- W0 cociy S g
- 007 | | IS8y «@
<
— 00°E [~ Ls¥8y | 00°E= [ |- LOGLY
=
v
- 09 F—-—161'9%
68°0
- 6L e LSESY
o~
a
- 916 | evpsy
<
1601 \% $8E°SH
- szrr- 0] ey
S OLTL [T T vElSE
-
DA A R P 2
e LEY L | 700 L66VY
N2 R IS NS DI B8
/E.i,v/ o1 tsesy
m\m.o
o0
wy
wi
- 6§07 | ——+— 0LESY
o0
o
b gt f——t— SLESH
D
<
o
ST e TSHSh
(o e]
N
(o]
A 0T8T o — 1EF'SY
2
=3
S ) Ty o o SR S 6 (S A0
) m m
> > >
7 n O O m o o
S whEE L mp eS| m<
= ol = > Lol &>
Qrgl32 5 QO EEgRIPn|EE 5@
SEIl3E 228 322201 22
m
R E OO0 | aA 52 Oa | M mm O




( PROFILO RAMO D
SEZIONE D-23
PROGRESSIVA400.00
BASE
BA1l 1.68 m?
BINDER
BI1 041 m?
BONIFICA
BO1 5.98 m?
MISTO CEMENTATO
CEl 2.58 m?
GHIAIA
Gl 0.80 m?
G2 0.68 m*
Totale: 1.48 m?
MISTO CAVA
M1 0.31 m?
M2 031 m?
Totale: 0.62 m? 7% E
RILEVATO DUNE =2 1 389 2.38%
RDI 11.76 m? — ——
RD2 13.65 m?
Totale: 2541 m?
RILEVATO
RIl 45.52 m?
SCAVO FOSSI ‘ ‘ g ,
SF1 2.15m? i
USURA i
Us1 033 m? |
VEGETALE DUNE
VDI 1.79 m?
VD2 2.02 m?
Totale: 3.81 m?
VEGETALE SCARPATE
VEI 0.22 m?
VE2 0.38 m?
Totale: 0.60 m?
VEGETALE FOSSI
VF1 0.03 m?
IDROSEMINA DUNE
al 6.43 m
al 7.19m
Totale: 13.62m
IDROSEMINA
inl 0.90 m
in2 1.80 m
Totale: 2.70 m
SCOTICO
scl 1997 m
sc2 0.00 m
Totale: 1997 m
SCOTICO DUNE
sd1 390 m
sd2 414 m ‘
Totale: 8.04m |
g : !
26 ™ ‘ [ ~
AN 200 | ‘ | H L i : | | ‘ |
1 \ | | | ; ; 1 : i | ;
PROGRESSIVE L . < & < - ¢ @ _ < o o £
TERRENO g 5 § g r?' 2 S = < X 2 <
T PARZIALL | 1 ‘ ‘ ‘ 1118 i ‘ ‘
| TERRENO B 7.65 10.98 | 9.92 | 10.92 \‘ 1‘118,; | 1 | 51
| | | | | | : i ! i i /
; QIIEJOTE o o o 5 3 g g 5 g 8 g S g € ¥
. TERREN < % g 2 g z s G 2 g g g 5 2
‘ 1 AN ': | — i ol : : [
PROGRESSIVE 7 s  gss%%8s = = =2 =g 23 5 52 8g
PROGETTO = i YYogngS S A fa 88 5= 6o g =
PARZIALI ) /2N o/e% =N L 2 /2N i o /m‘\
o 4.93 (21300737272 25 iﬁm 2007200 300 1307 Z) (1505 [Z]
: P PR NN I i ! i Lo
QUOTE 5  ggegrE: 8 & 53 i3 3z s gg 3@
PROGETTO < £% sgsgee s 5 % $¥ =% £ s =3 3
— i :
PROGRESSIVE 2 TTCRT I s g =
RILEVATO o8 TGS e S - 8 =
! PARZIALI : oo S ol 1 ‘1 !
| PARZIALT | ast STE8Y 300 | 5.00 | 160 | |
‘ ' 1 N | i ~ %
QUOTE 5 frem sz 8 R
RILEVATO | g g¥gy g g g = 2




PROFILO RAMOD
SEZIONE D-24
PROGRESSIVA420.00
BASE
BAl 1.69 m?
BINDER
BIl 0.41 m?
BONIFICA
BO1 6.12 m?
MISTO CEMENTATO
CE1 2.60 m?
GHIATIA
Gl 0.82 m?
G2 0.67 m?
Totale: 1.49 m?
MISTO CAVA
M1 0.31 m?
M2 0.31 m?
Totale: 0.62 m? i S
RILEVATO DUNE P 007% 0.07%
RD1 13.58 m? T N : =N
RD2 12.87 m? |
Totale: 2645 m?
RILEVATO
RI1 48.82 m?
SCAVOQ FOSSI ‘ l - ||
SF1 2.30 m? | | \ W : i W— 1 : 7
USURA i | ; ‘ §
Ust 0.31 m? ; ! : i i
VEGETALE DUNE |
VD1 1.99 m?
vD2 1.98 m?
Totale: 3.97m?
VEGETALE SCARPATE
VE1 0.39 m? ;
VE2 0.22 m? |
Totale: 0.61 m?
VEGETALE FOSSI
VF1 0.01 m?
IDROSEMINA DUNE
al 7.10 m
a2 7.00 m
Totale: 1410 m
IDROSEMINA
inl 1.80 m ! |
n2 0.90m ‘
Totale: 270 m
SCOTICO
scl 20.40 m !
SCOTICO DUNE b
sdl 403m | | L
sd2 3.98m j §
Totale: 8.0lm | |
e
6 N | ‘
%y' 200 |
i I ! | | | ; ! !
PROGRESSIVE g - % s 2 o % = 5 B g 8
TERRENO @ & = NERRR “ = < S Al
Lt i 5.63 ‘ 12.70 17.77 %1,101 112) 256 i 5.89 “\ 2.60 16.29 |32 (122
3 £ g 2 3 = 2 Z = 2 5 =
TERRENO X e e e @ 4 p g P 2 Z 2
I ~ ~ ~+ < ~ < i < < -+ <
‘ 3 ol T 1 i P i Pl [
PROGRESSIVE i 2 L % ] T
! ~ < < oo < —
PROGETTO | g B %33 & 2 2 b lule =S SRS g
| ERDGETTO 5.49 /E\‘ 3.00 ilzo\‘loﬁ 200 2.00 j 300((\‘/2’?\3\ 3.00 )E\ 5.41 | 1.50 E\ 2.50 2
[QUOTE F N i i I | O ;(‘\‘
= 23 22 3% B 3 8 2822Q 23 2 2 g g 8
PROGETTO i e % Za o o = e e I P P a2 M
-+ ~ <k - < - <~ = ~ A S = = <t - < <+ =
i \ 1 A e a
PROGRESSIVE 8 2 = o s zsx =
RILEVATO o 5 @ P R NARNAS ~
P T [
N }\ 4.57 Les | 300 | 5.00 E\‘E 4.90
QUOTE | | I | AT |
| 2 ] = = §-8eE )
| RILEVATO | 9 52 e e 2




PROFILO RAMO D

SEZIONE D-25

PROGRESSIVA439.91
BASE
BAI 1.67 m?
BINDER
BI1 0.41 m?
BONIFICA
BO1 6.22 m?
MISTO CEMENTATO
CE1 2.59 m?
GHIAIA
Gl 1.46 m?
G2 1.36 m?
Totale: 2.82 m?
MISTO CAVA
Ml 0.64
M2 0.65 m?
Totale: 1.29 m?
RILEVATO DUNE
RD1 25.81 m?
RD2 24.29 m?
Totale: 50.10 m? w4
RILEVATO L . g
RI1 51.48 m? 1 2.50% 2.50%
SCAVO FOSSI b =
SF1 2.07 /w ‘
USURA / i
US1 0.33 m?
VEGETALE DUNE
VD1 211 m? *:
VD2 1.98 m? : :,
Totale: 4.09 m? h !
VEGETALE SCARPATE
VEI 0.38 m?
VE2 0.23 m? |
Totale: 0.61 m* |
VEGETALE FOSSI !
VF1 0.03 m?
IDROSEMINA DUNE
al 748 m
a2 7.06 m , ‘
Totale: 14.54 m |
IDROSEMINA |
inl 1.80 m
in2 0.90 m
Totale: 270 m
SCOTICO 3
scl 20.72m |
SCOTICO DUNE
sdl 742m ;
sd2 7.38m |
Totale: 1480 m ‘ |
I
S ! | \‘J
I 1 ; }
%2 200 ‘ 1 .
| ] I | | | | | i | | i
PROGRESSIVE 5 . . I . & L - o g
TERRENO 2 = s 8 = 2 32 < Z = S 3 2
3 3 in D o o | ) i - = - N N i
%;%% 495 11.45 2.27 6.76 9.04 6.01 | 3.49 8.73
| QUOTE L . . e . o o . - . . . ° - &
%ngggNo & b p 8 5 I T g b g - z :
i ‘Q ~ ~ B < l@ Q <~ Q ‘ ~<r‘ — ‘ < : -« ‘ et ‘ ‘Q ~
i I [ B | | A P | P |
P URLSSIVE 3 22 5 sss= 8 s = sesss 5 = g3 83
‘ = e 5 ¥ o0 o« = & ERRAAI el % g3 S
[ 1 I w ‘ i i : ‘ ; ISy J e
| PARZIALL | 5.81 @\‘ 333 | ﬁ\ 130 \‘ 1007 2.00 | 300 fj‘/f ?E\ | ( ) 5.46 150 E 250 (&) B
I ! i = ! | Rz i o | o [
QUOTE N S 3 28 28 8 = 2 Lggog @ o8 = =8 g3
PROGETTO 2 ] z G52z 2 % = fsss z ws 2 9% ig
! [ N i
PROGRESSIVE 9 s s o g <
RILEVATO =N + o S PRRAA RS =
PARZIALL \ 4.86 l 160 300 | 5.00 i g8 WE\\ 498 |
QUOTE ‘ . . Ay ‘
g £ & $ HEERE &
| RILEVATO 7 ® = P EEzwy P




PROFILO RAMO D
SEZIONE D-26
PROGRESSIVA460.00
BASE SCOTICO DUNE
BAL 1.67 m? sdl 8.06 m
BINDER sd2 7.89 m
BIl 0.43 m? Totale: 15.95m
BONIFICA
BO1 6.51 m?
MISTO CEMENTATO
CEl 2.58 m?
GHIAIA
Gl 0.81 m?
G2 0.69 m*
G3 0.67m?
G4 0.70 m?
Totale: 2.87 m?
MISTO CAVA
M1 0.33 m?
M2 0.32 m?
M3 031 m?
M4 031 m?
Totale: 1.27 m? 73 v
RILEVATO DUNE = 2.50% 2.50% b2
RD1 26.34 m? — :
RD2 23.72 m?
Totale: 50.06 m?
RILEVATO
RI1 57.71 m?
SCAVO FOSSI !
SF1 2.00 m? e D
USURA ‘ — - i — 7 > : \
Ust 0.31 m? ‘ iR L !
VEGETALE DUNE '
VD1 1.59 m? !
VD2 1.45 m?
VD3 0.90 m?
VD4 0.88 m?
Totale: 4.82 m?
VEGETALE SCARPATE
VEI1 0.36 m?
VE2 0.23 m? |
Totale: 0.59 m?
IDROSEMINA DUNE
al 5.79m : i
a2 532m : 3
23 320m |
a4 3.19m i : !
Totale: 17.50 m 5 |
IDROSEMINA |
inl 1.80m
in2 0.90m ;
Totale: 2.70 m | ! ! 3
SCOTICO | ! |
scl 21.69m - 1 i
& 200 | : | | | | |
PROGRESSIVE L ! Lol . . . s I
TERRENO 5 g & § 3 & = < g = 49 g
| PaRZLALL 205 3.63 3.25 176 3.63 3.56 2165 1.28 2438 110116,
QUOTE T = = 2 g 5 2 8 % S 4
TERRENO g ¢ g § % g g | | 2 % ‘ | § ¢ g
i | P \ LA ‘ i S A ! o i : ! :
PROGRESSIVE 2 =z sz sz  ssss e = g sessg 8% 2§ g2 = IR &3
PROGETTO = 32 =g %5 JY<g 8 8« A Res s dd g S zZa 259
i \ ] T : i b | 5 y ot § fen
PARZIALL 4.40 (2) 3.00 @\ 1.83 @K 300 (31130 11.0072.00 200 | 300 43/5‘ 25 500 (3180 (F) 300 /i\; 4.01 150 E\ 2.50 (E\‘
I ] ] IR ‘ N P I | 3 ]
QUOTE 2 Gy 5= =3 5 =3 2 2 g ZEEEE zz  os 53 g g3 2 g
— [o= ) —— o onoon [o\Mast o — — cCoONCcoo oo o o [==ls) — - v o—
PROGETTO g g% ¥x 239 gg 93 ¢ g g 2¥33¢g g §¢% 55 g 93 319
: | i e
PROGRESSIVE % s s s Ss oz =
RILEVATO o < = S RvEARAR =
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scl 11.68 m
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